
  

E–0898   

 

B.Com. DEGREE EXAMINATION, APRIL 2021 &  

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Commerce 

MANAGEMENT ACCOUNTING  

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Define Management Accounting. 

 ÷©»õsø© PnUQ¯ø» Áøμ¯Ö. 

2. Give any two objectives of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® C¸ ÷|õUP[PøÍ öPõk. 

3. Give the meaning of Trend Percentages. 

 ÷£õUS \uÃuzvß ö£õ¸øÍ öPõk. 

4. What is Ratio? 

 ÂQu® GßÓõÀ GßÚ? 

5. Define funds flow statement.  

 {v Kmh AÔUøPø¯ Áøμ¯Ö. 
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6. Write a note on funds. 

 {v SÔzx J¸ SÔ¨¦ GÊxP. 

7. Give the meaning of Budget. 

 £möámiß ö£õ¸Ò u¸P. 

8. What is Flexible Budget? 

 ö|QÌÁõÚ £möám GßÓõÀ GßÚ? 

9. What do you understand by the term “Break-Even 
Analysis”?  

\›\© ¦ÒÎ B´Ä £ØÔ }Âº AÔÁx ¯õx? 

10. Write a note on Material Mix Variance. 

 ö£õ¸Ò P»øÁ ©õÖ£õk SÔzx J¸ SÔ¨¦ GÊxP. 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Advantages of Management 
Accounting. 

÷©»õsø© PnUQ¯¼ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b)  Distinguish between Financial Accounting and 
Management Accounting. 

  {v PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À 

BQ¯ÁØøÓ ÷ÁÖ£kzxP. 
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12. (a) Calculate the trend percentages from the following 
figures of Praba Ltd. Taking 2015 as the base and 
interpret them. 

                        (Rs. in lakhs) 

 Year Sales Stock Profit Before Tax 

 2005 1881   709      321 

 2006 2340   781  435 

 2007 2655   816  458 

 2008 3021   944  527 

 2009 3768 1154  672 

  ¤μ£õ ¼m. 2015–ß Ai¨£øh¯õP GkzxU öPõÒÐ® 
¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎ¼¸¢x ÷£õUS \uÃuzøuU 
PnUQmk AÁØøÓ ÂÍUS[PÒ.  

                                        (¹. »m\zvÀ) 

 Á¸h®     ÂØ£øÚ \μUS Á›US •ß »õ£® 

 2005 1881   709      321 

 2006 2340   781  435 

 2007 2655   816  458 

 2008 3021   944  527 

 2009 3768 1154  672 

Or 

 (b)  Explain the limitations of Ratio Analysis. 

  ÂQu £S¨£õ´Âß Áμ®¦PøÍ ÂÍUSP. 

13. (a) State the limitations of Funds Flow Statement. 

  {v Kmh AÔUøP°ß Áμ®¦PøÍU SÔ¨¤kP. 

Or 
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 (b)  From the following Profit and Loss Account. you are 
required to compute cash from operations. 

Profit and Loss A/c for the year ending 30th June 2018 

   Rs.  Rs. 

 To  Salaries 5,000 By  Gross Profit 25,000 

 “ Rent 1,000 “     Profit on sale of land 5,000 

 “ Depreciation 2,000 “     Income tax refund 3,000 

 “ Loss on sale of plant 1,000 

 “ Goodwill written off 4,000 

 “ Proposed Dividend 5,000 

 “ Provision for taxation 5,000 

 “ Net profit 10,000 

                                         33,000  33,000 

  ¤ßÁ¸® C»õ£ |mhU PnUQ¼¸¢x }[PÒ 
ö\¯À£õkPÎ¼¸¢x £nzøuU PnUQkP. 

30 áüß 2018 – Ehß •iÁøh²® Bsiß »õ£ |mh PnUS 

   ¹.  ¹. 

 \®£Í® 5,000 ö©õzu C»õ£® 25,000 

 ÁõhøP 1,000 {» ÂØ£øÚ «uõÚ C»õ£® 5,000 

 ÷u´©õÚ® 2,000 Á¸©õÚ Á› v¸®£ ö£ØÓx 3,000 

 Bø» ÂØ£øÚ°À CÇ¨¦ 1,000 

 |Øö£¯º ÷£õUöPÊuÀ 4,000 

 •ßö©õÈ¯¨£mh DÄz öuõøP 5,000 

 Á› JxURk 5,000 

 {Pμ C»õ£® 10,000 

                                              33,000   33,000 
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14. (a) Write a note on Zero Base Budgeting. 

  §äâ¯ Ai¨£øh vmh® £ØÔ J¸ SÔ¨¦ GÊxP. 

Or 

 (b)  State the advantages of budgetary control. 

  £möám Pmk¨£õmiß |ßø©PøÍ SÔ¨¤kP. 

15. (a) Explain the types of variances used in standard 
costing. 

{ø»¯õÚ ö\»ÂÀ £¯ß£kzu¨£k® ©õÖ£õkPÎß 
ÁøPPøÍ ÂÍUSP. 

Or 

 (b)  From the following particulars find out the B.E.P. 
What will be the selling price per unit if B.E.P. is to 
be brought down to 9000 units? 

        Rs. 

  Variable cost per unit 75 

  Fixed expenses  2,70,000 

  Selling price per unit 100 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x \›\© ¦ÒÎø¯ PshÔP. 
\›\© ¦ÒÎ 9000 ³ÛmkPÍõPU SøÓUP¨£h 
÷Ásk©õÚõÀ J¸ ³ÛmkUS ÂØ£øÚ Âø» 
GßÚÁõP C¸US®? 

                                       ¹. 

  J¸ ³ÛmkUPõÚ ©õÔ ö\»Ä 75 

  {ø»¯õÚ ö\»ÄPÒ 2,70,000 

  J¸ ³ÛmkUPõÚ ÂØ£øÚ Âø» 100 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the scope and functions of Management 
Accounting. 

÷©»õsø© PnUQ¯¼ß ÷|õUP® ©ØÖ® ö\¯À£õkPøÍ 
ÂÍUSP. 

17. From the following information, prepare a Balance Sheet. 
Show the workings. 

 Working capital   Rs. 75,000 

 Reserves and surplus  Rs. 1,00,000 

 Bank overdraft   Rs. 60,000 

 Current ratio   1.75 

 Liquid ratio   1.15 

 Fixed assets to proprietors’ funds 0.75 

 Long term liabilities  Nil 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸¨¦{ø»U SÔ¨ø£ 
u¯õ›UPÄ®. ö\¯À£õkPøÍ PõmkP. 

 |øh•øÓ ‰»uÚ®  ¹. 75,000 

 C¸¨¦ ©ØÖ® E£›  ¹. 1,00,000 

 Á[Q ÷©ÀÁøμ¨ £ØÖ  ¹. 60,000 

 uØ÷£õøu¯ ÂQu®  1.75 

 vμÁ ÂQu®   1.15 

 E›ø©¯õÍºPÎß {vUS {ø»¯õÚ   

 ö\õzxUPÒ   0.75 

 }sh Põ» PhßPÒ  CÀø» 
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18. Balance Sheets of M/s Black and White as on 1.1.2018 
and 12.12 2018 were as follows : 

Liabilities 1.1.2018 
Rs. 

 31.12.2019 
Rs. 

 Assets 1.1.2018
Rs. 

31.12.2019
Rs. 

Creditors 40,000  44,000  Cash 10,000 7,000

Mrs. White’s Loan 25,000  –  Debtors 30,000 50,000

Loan from SBI 40,000  50,000  Stock 35,000 25,000

Capital 1,25,000  1,53,000  Machinery 80,000 55,000

     Land 40,000 50,000

     Building 35,000 60,000

 2,30,000  2,47,000   2,30,000 2,47,000

 During the year a machine costing Rs.10,000 
(accumulated depreciation Rs.3,000) was sold for  
Rs. 5,000. The provision for depreciation against 
machinery as on 1.1.2018 was Rs.25,000 and on 
31.12.2018 Rs.40,000. Net Profit for the year 2018 
amounted to Rs. 45,000. You are required to prepare 
funds flow statement.  

v¸ÁÍºPÒ P¸¨¦ ©ØÖ® öÁÒøÍ°ß 1.1.18 ©ØÖ® 
31.12.18 –® PõÚ C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ 1.1.2018 
¹. 

 31.12.2019 
¹. 

 ö\õzxUPÒ 1.1.2018
¹. 

31.12.2019
¹. 

PhÚõÍºPÒ 40,000  44,000  öμõUP® 10,000 7,000
v¸©v. öÁÒøÍ Phß 25,000  –  PhÚõÎPÒ 30,000 50,000
Gì.¤.I. Phß 40,000  50,000  \μUQ¸¨¦ 35,000 25,000
‰»uÚ® 1,25,000  1,53,000  C¯¢vμ[PÒ 80,000 55,000

     {»® 40,000 50,000

     Pmih® 35,000 60,000

 2,30,000  2,47,000   2,30,000 2,47,000

C¢u BsiÀ ¹.10,000 Âø» öPõsh J¸ C¯¢vμ® 
¹.5,000 US ÂØP¨£mhx (vμmh¨£mh ÷u´©õÚ® 
¹.3,000). C¯¢vμzvß «uõÚ ÷u´©õÚzvØ©õÚ HØ£õk 
1.1.2018–À ¹.25,000–® 31.12.18–À ¹. 40,000 BP 
C¸¢ux. 2018–® BsiØPõÚ {Pμ »õ£® ¹.45,000. }[PÒ 
{v Kmh AÔUøPø¯ u¯õº ö\´¯ ÷Ásk®. 
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19. The cost of an article at a capacity level of 5,000 units is 
given under A below. For a variation of 25% in capacity 
above or below this level, the individual expenses vary as 
indicated under B below : 

 A 
Rs. 

B 

Material Cost 25,000 (100% varying)

Labour Cost 15,000 (100% varying)

Power 1,250 (80% varying) 

Repairs and Maintenance 2,000 (75% varying) 

Stores 1,000 (100% varying)

Inspection 500 (20% varying) 

Depreciation 10,000 (100% varying)

Administrative Overheads 5,000 (25% varying) 

Selling Overheads 3,000 (25% varying) 

 62,750  

 Cost per unit Rs. 12.55 

 Find the total cost and unit cost of the product at 
production levels of 4,000 units and 6.000 units. 

 5000 A»SPÒ vÓß ©mhzvÀ J¸ £shzvß Âø» A 
R÷Ç öPõkUP¨£mkÒÍx. C¢u {ø»US ÷©À AÀ»x 
AuØSU R÷Ç 25% vÓß öPõsh ©õÖ£õmiØS B R÷Ç 
SÔ¨¤h¨£mkÒÍ£i uÛ¨£mh ö\»ÄPÒ EÒÍÚ. 

 A 
¹. 

B 

ö£õ¸Ò ö\»Ä 25,000 (100% ©õÔ)

öuõÈ»õÍº ö\»Ä 15,000 (100% ©õÔ)

\Uv 1,250 (80% ©õÔ) 
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 A 
¹. 

B 

£Êx ©ØÖ® £μõ©›¨¦ 2,000 (75% ©õÔ) 

ì÷hõºì 1,000 (100% ©õÔ)

B´Ä 500 (20% ©õÔ) 

÷u´©õÚ® 10,000 (100% ©õÔ)

{ºÁõP ÷©Ø ö\»ÄPÒ 5,000 (25% ©õÔ) 

ÂØ£øÚ ÷©Ø ö\»ÄPÒ  3,000 (25% ©õÔ) 

 62,750  

 J¸ A»SUPõÚ ö\»Ä ¹. 12.55 

 EØ£zv {ø» 4000 A»SPÒ ©ØÖ® 6000 A»SPÐUPõÚ 
ö©õzu ö\»Ä ©ØÖ® J¸ A»SUPõÚ ö\»øÁ Psk¤i. 

20. From the following information, you are required to  
find out : 

 (a) Contribution 

 (b) Profit Volume Ratio (P/V Ratio) 

 (c) Break-even point in units 

 (d) Margin of Safety 

 (e) Profit 

  Total fixed cost Rs. 4,500 

  Total variable cost Rs. 7,500 

  Total sales Rs. 15,000 

  Units sold 5,000 units 

 Also calculate the volume of sales to earn profit of  
Rs. 6,000. 



E–0898 

  

  10

¤ßÁ¸® uPÁÀPÎ¼¸¢x }[PÒ Psk¤iUP ÷Ási¯x. 

 (A) £[PÎ¨¦ 

 (B) »õ£ AÍÄ ÂQu® 

 (C) \›\© ¦ÒÎ (A»QÀ) 

 (D) £õxPõ¨¦ ÂÎ®¦ 

 (E) »õ£® 

 ö©õzu {ø»¯õÚ ö\»Ä ¹. 4,500 

 ö©õzu ©õÔ ö\»Ä ¹. 7,500 

 ö©õzu ÂØ£øÚ ¹. 15,000 

 ÂØP¨£mh A»SPÒ 5,000 

÷©¾® ¹. 6,000 »õ£® \®£õvUP ö\´¯ ÷Ási¯ 
ÂØ£øÚ°ß AÍøÁ²® PnUQkP. 

_________________ 
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